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QUESTION 1

Which gateway can be used for a service flow where more than one path can be followed for a specific process
instance?

A. Event Gateway

B. Parallel Gateway

C. Exclusive Gateway

D. Decision Task Gateway

Correct Answer: B

QUESTION 2

Which method should be used for passing an external complex variable type to the IBM BPM Web API?
A. Pass the complex variable type as-is to the web API.

B. Convert the variable to XML and wrap it in a ComplexValue object.

C. Convert the complex variable to a String via the . tostring () method.

D. Passing external complex variable types to the web API are not supported.

Correct Answer: C

QUESTION 3

What is required when a developer wants to share a toolkit with users working on a different Process Center?
A. There is no dependency on the toolkit.

B. The toolkit must be exported as a .twx file.

C. A snapshot of the toolkit needs to be released.

D. All users must be working with the same Process Center.

Correct Answer: C

QUESTION 4
Which statement describes using a Service Call control from the BPM Ul toolkit to invoke a service flow?

A. It is used to invoke a service without having to use boundary events and has an input and output variable with on
load, on invoked, on result, on error events. It can be placed in client side human service coach page or inside coach
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view.

B. A Service flow which has an input and output variable and a service task activity inside it calling an implementation
service.

C. Itis used to invoke a service that returns the data displayed in the table, never bound to variable, with on load, on
service data loaded, on service data error events. It can be placed in client side human service coach page or inside
coach view.

D. It is coupled with the human service in which it is used. It is created in the library area where User Interface library
items are stored.

Correct Answer: B

QUESTION 5

What is a valid logging command to print log statements to the client-side browser?
A. print.log("\V'info")

B. debug.log("info\\'\\')

C. client.log("\Vinfon\'\\")

D. console.log("\Vinfo™)

Correct Answer: D
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